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1 |TVER—F 1 1,000
2 |EAX 3 800
3 (NP — 2 310
4 |3CHL 6 2,500
5 |anfta—r—7 L 1 610
6 |VITA=T AR 16 1,500
7 |\ ART—T 1 600
8 |YT77— 3 1,030
9 [TWEE—Y—) 3 710
10 |[YAR7T—7 7 510
11 |AA (28] 3 810
12 |3E&F = Ab 5] 1,500
13 | FHAHEERTF =7 4 1,500
14 [ RE—NAF=T 1 100
15 |[Fl#EsAA 8 3,100
16 |TLER 1 1,800
17 (AL 14 2,500
18 |[F¥AZ—fFtRLyP— 2 200
19 | IO E—F =T 300
20 (BEEAZNT>T (A) 4 1,000
21 [RVADIV 10 1,010
22 |ABF AL 11 1,500
23 12BNV H—Tv7 5) 1,150
24 |F—AR—F 4 520
25 |[ZVASARYY— 8 1,650
26 |MALDANVIR—Vay 4 500
27 |[DIF 3 850
28 |BOEZY 1 1,100
29 |ULE—ZX)L (Y R) 1 20
30 [T B —2K )L (D) 1 20
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31 |VyBE—ZRX )L (m—) 1 20
32 |[BEEAT v/ X— 3 1,200
33 (797 —7 1 50
34 |ROSEESIHL 4 2,000
35 |3EAZNTY7 (B) 16 1,800
36 |#7—BOX 12 600
37 |4E5[HL 16 2,550
38 |[/XN—FT—Tav 1 2,800
39 |anft3BEAZNT T 9 1,590
40 |r—v 4 1,000
41 |HLBE 5 2,500
42 |HAA 4 4,500
43 | _E—h— 1 i)
44 |[TNIN—T— 7 3,300
45 |Fxl— 6 1,150
46 |BERE 2740 f A 17 15,110
47 |BERHE 264VF B 7 12,800
48 |BHERH 2410F Vb 1 380
49 |vUvTVBERHE 204/VF B/ h—% 5 5,000
50 |BEREL 274V fif B 16 10,100
51 |#TV7l-A BERE 2047 H 12 5,500
52 |vUVTY BERE 24T & 1 5,110
53 |IT0TT-AH BERE 1647 B 9 6,010
54 |vYvTvBERE 184VF F 3 5,600
55 (P07l AH BERE 1440F H 5 5,100
56 |ITBEAFDH T BEE 1440F 7R MBhEmfT & 13 5,160
57 |—HmE 184VF FH 3 1,340
58 XV IR —H— 2 600
59 U T ART 407

60 |VA—H—TAF — 2 520




